GRE Argument Sample Essay

Question 1

The following appeared as a recommendation by a committee planning a ten-year budget for the
city of Calatrava.

"The birthrate in our city is declining: in fact, last year's birthrate was only one-half that of five
years ago. Thus the number of students enrolled in our public schools will soon decrease
dramatically, and we can safely reduce the funds budgeted for education during the next decade.
At the same time, we can reduce funding for athletic playing fields and other recreational
facilities. As a result, we will have sufficient money to fund city facilities and programs used
primarily by adults, since we can expect the adult population of the city to increase."

Write a response in which you discuss what specific evidence is needed to evaluate the
argument and explain how the evidence would weaken or strengthen the argument.

Question 2

The following appeared in a letter to the editor of Parson City's local newspaper.

"In our region of Trillura, the majority of money spent on the schools that most students attend
— the city-run public schools — comes from taxes that each city government collects. The
region's cities differ, however, in the budgetary priority they give to public education. For
example, both as a proportion of its overall tax revenues and in absolute terms, Parson City has
recently spent almost twice as much per year as Blue City has for its public schools — even
though both cities have about the same number of residents. Clearly, Parson City residents place
a higher value on providing a good education in public schools than Blue City residents do."

Write a response in which you discuss what specific evidence is needed to evaluate the

argument and explain how the evidence would weaken or strengthen the argument.

Question 3

The following appeared in a memo from a vice president of Quiot Manufacturing.

"During the past year, Quiot Manufacturing had 30 percent more on-the-job accidents than at the
nearby Panoply Industries plant, where the work shifts are one hour shorter than ours. Experts
say that significant contributing factors in many on-the-job accidents are fatigue and sleep
deprivation among workers. Therefore, to reduce the number of on-the-job accidents at Quiot



and thereby increase productivity, we should shorten each of our three work shifts by one hour so
that employees will get adequate amounts of sleep."

Write a response in which you examine the stated and/or unstated assumptions of the
argument. Be sure to explain how the argument depends on these assumptions and what
the implications are for the argument if the assumptions prove unwarranted.

Question 4

The following appeared in a memorandum from the planning department of an electric power
company.

"Several recent surveys indicate that home owners are increasingly eager to conserve energy. At
the same time, manufacturers are now marketing many home appliances, such as refrigerators
and air conditioners, that are almost twice as energy efficient as those sold a decade ago. Also,
new technologies for better home insulation and passive solar heating are readily available to
reduce the energy needed for home heating. Therefore, the total demand for electricity in our
area will not increase — and may decline slightly. Since our three electric generating plants in
operation for the past twenty years have always met our needs, construction of new generating
plants will not be necessary."

Write a response in which you examine the stated and/or unstated assumptions of the
argument. Be sure to explain how the argument depends on these assumptions and what
the implications are for the argument if the assumptions prove unwarranted.

Question 5

The vice president of human resources at Climpson Industries sent the following
recommendation to the company's president.

"In an effort to improve our employees' productivity, we should implement electronic monitoring
of employees' Internet use from their workstations. Employees who use the Internet from their
workstations need to be identified and punished if we are to reduce the number of work hours
spent on personal or recreational activities, such as shopping or playing games. By installing
software to detect employees' Internet use on company computers, we can prevent employees
from wasting time, foster a better work ethic at Climpson, and improve our overall profits."

Write a response in which you examine the stated and/or unstated assumptions of the
argument. Be sure to explain how the argument depends on these assumptions and what
the implications are for the argument if the assumptions prove unwarranted.



